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Year 10 Advanced Mathematics
(HARIST BROS PAGENDSAD 3

Test3: Ch3,4,5.

Complete all questions.
Answers to be given in exact form unless otherwise stated.

Show all working.

1. - Solve by factorising.
(a) x*-5x—36=0 (b) mt+ 5m =0
2. Solve by completing the square.
(a) x>+ 6x=11-2x
3. Solve, using the quadratic formula.

; (@) 3x* =4x+1

'\
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(3 marks)

(3 marks)



4.

(O is the centre of the circle. Prove that:OC bisects AB. (3 marks)

The following pairs of triangles are similar. A
| ¢
(a) Write 2 similarity statement, naming the vertices D} P
in corresponding order. f (1 mark) r 535 :
z

(b) Find the value of x. (2 marks)

Solve each of the following equations, rounding answers to 3 decimal piaces
where appropriate. (3 marks each)

(@) (x+3)°=25 b 7P +10=0



7. Find the interquartile range of the following set of data: (2 marks)

45 53 162 43 4751 64 47 53 6l

Sl —— — S

3. Two golfers recorded the following scores for their p;gvious ten rounds.
Greg o e W g w W e B M 7%

Tiger w66 68//72/ il ]’4/ 67 17'1/.}1’ H

o

@ Constrygt a back-to-back stem and leaf plot. (3 marks) -

5 C L

- (ii) CélculaiZe the mean and standard deviation for each player. (4 marks)

(iii) ~ Which golfer is the better player? © (2 marks)




9. By using the discriminant, determine whether the equations has no real
solutions, one solution or two solutions. (2 marks each)

@ X+1ix+9=0 b)) x-3x+4=0

10.  Prove that AABC ||| AEDC.

11.  The length ofa rectangle is 8 cm longer than its width. If its area is 240 cm?,
find the dimensions of the rectangle. . © (3 marks)



Year 10 Advanced Mathernatics

Test3: Ch 3, 4, 5.

o
A ¢

e
m,h\ / Name: e min ZHANG

Grm o= @
Compiete all questions. Alcrlx-4) =0
Answers 1o be given in exact form unless otherwise stated. Klg=O X 5T
Show all working. st 7 weag
==l
1. Selve by factorising. hﬁ (6 marks)
’ P
@ F-5x-36=032.5, () m+5m=0 () 9*-16=0
XE-GxH 3= 0 mlniBI=c Gl = O
KOS 4G =0 :
= T =a] o 4=
K (x-a) =0 = e e ox=4 ot Qs
- [
Kb lp=0 or K Qmd K= 2t =z
VAH..«L.. = g
! <~ S
- FaEE—O
(3R +2)(F<H2)
2. Solve by completing the square. (3 marks)
(@) P +6x=11-2
Y/Uuﬂ. m>+u¢al._ =
X248~ 1=
KAHEX= (]
T8 MGG UG,
b
43P = 2527 \\\ﬂ
D N A TS ‘
X=~LERE
Re 4+ 5 X=~4=5
=y Or P Sl :
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4. O is the centre of the circle. Prove that OC bisects AB. {5 marks)
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3. The following pairs of triangles are similar,
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(a) Write 2 similarity statement, naming the vertices &=

in corresponding order. 1 mark) = gt
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()] Find the value of x,

6. Solve cack of Fa following equations, rounding answers to 3 decimal Ewn_wm
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